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This exam is in two parts.

Part - I is related to Mental Ability Test
which consists of 90 questions.

Part — II relates to Scholastic Aptitude
Test which consists of 90 questions

relating to three subjects listed below : J5 -

(i) Science (i) mfeém

(i) Mathematics (ii) afez

(iii) Social Studies (iii) Aefaar fifamr

. Each question carries one mark. All

questions are compulsory.

. You have been provided with an Answer

Sheet (OMR) for this question paper. Darken
the correct option of each question in the
Answer Sheet (OMR) with black/blue
ball pen.

. Rough work may be done on the blank

space provided for this purpose.

. There is no negative marking in the test.

Do not use white fluid on OMR (Answer
Sheet).

. Half an hour extra should be given to

Physically Handicapped candidates only.
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PART-1(NMMS MAT)

Directions: (Questions 1-3)

In each of the following questions the second
number in the first part of the :: bears a certain
relationship to the first number. Similarly, one of
the numbers in answers bears the same
relationship to the first number in the second part.
Choose the correct answer to complete the
problem that can replace'?"

1. 2:606:7
(1 22 (2) 29
(3) 36 4) 42
2. 27:65::125:?
(1) 81 (2) 126
(3) 125 (4) 217
;3 30:14::7:51
(1) 101 (2) 104
(3) 102 4).. 99
Directions (Question 4-7)
Find missing term:
4. 26 | 5|17
? 2 |50
82 | 65 | 37
(1) 8 2 9
(3) 10 4 19
> [8 [32]s6
9 | 45 | 81
10587 2
(1) 64 (2) 106
(3) 101 4) 124
6.
10 32 ?
1 4 2 6 1 5
1 9 (2) 12
18 “4) 24

(01)

fsoem (yas 389 1-3)

ufost At & f¥a ur Agy g2 @<t 91 fen
Hitmr 3% 2t 83t Adu g=@+t 91 o3 feamut
&% At feasy &t = &9 far s mifmr yrs
I I AR

1. 2:6:6:2
(1) 22 2y 29
(3) 36 4 42
2. 27165382547
(1) 81 (2) 126
(3) 125 4 217

X 30:14::2:51

(1) 101 (2) 104
(3) 102 4 99
fsgem (yrs s89 4-7)
BUI UT U3T I
* 26 | 5|17
? 2 | 50
82 [ 65 | 37
(1 8 2 9
(3) 10 4) 19
3 8 | 32 | 56
9 | 45 | 81
10|58 ?
(1) 64 (2) 106
(3) 101 4) 124
10 32 7
1 4 Z 6 1 5
ay 9 2 12
(3)-18 4) 24



10.

11

12.

13.

3) 22

3 3
2 [ 7 4
i ? 20 4
3 6
(1) 25 {2y 35
(3) 40 (4) 49

How many 9's are there in the following
number sequence which are immediately
preceded by 6 but not followed by 5?
46954269436953598439692406943

(1) 3 2) 4

3 1 4) 2

How many 4's are there in the following
number sequence which are immediately
preceded by 7 but followed by 37
593217436974613287413832567439
87463
(1) 3
3) 4

Q) 2
4) 5

Rahul is standing in a queue in the bank to
withdraw money. His position is 19th from
back end and 8th from front side. How
many total persons in the queue?

(1) 20 (2) 24

3) 26 - 4) 27

Harmeet is standing in a queue to take
ticket at a railway station. There are total
57 persons in the queue. His position is
35th from back end. What is his position
from front side?
(1 23 (2) 26
(4) 24

Which word from the following words is at
third place when arranged in dictionary
order.

(1) Rational
(3) Rural

(2) Round
(4) Research

Which word from the following words is at
second place when arranged in dictionary
order.

(1) Narrate
(3) Native

(2) Naughty
(4) Nature

(02)

10.

11.

12.

15

\ 3 3
2 5 7 4
7 ? 20 4
3 6
(1) 25 (2) 35
(3) 40 (4) 49
JI5 ot &3t feg wix 9 faat e m@er J
Ao A3 ufos nid 6 9= ug Ime f&g
I 5 FT e Er IR
46954269436953598439692406943
(1 3 (2) 4
3 1 @ 2
I Tt &t &9 nix 4 fdat 9 »i@er I

Ae 2RF ufas wigd 7 37 UT I &g
i 3 BEr IR
593217436974613287413832567439
87463

(1 3 2) 2
(3) 4 “4) 5
¥9 (39 UR geo@ T gUs o a3g feu

fugs U 319 2 AES T | 03 e UR
3 g=T| 39 fTg o fdd et as |
(1) 20 (2) 24

(3) 26 “4) 27

I%< ACHG 3 JoHIS feae 3z oot fuzdt
3 y3T J1 339 {9 3% 57 fenast 75|
w3 JIHIS fUed® U 3 358 FES 3 T
AT UTH 3 g9 fdae rEs 3 T

(1) 23 (2) 26

(3) 22 4) 24

5 o8 moet § HEOdH o4 MigHd J9 3

R FtA9T FET ot mrSE 37
(1) Rational (2) Round
(3) Rural (4) Research

J5 58 moet § HOTaH H WigAg o9 3

<R THaT FEe ot »r@er 37
(1) Narrate (2) Naughty
(3) Native (4) Nature



14.

15.

16.

17.

18.

19.

Arrange the following words in
meaningful sequence and choose the
correct answer:

() Birth (i) Death

(iii) Marriage (iv) Education

(v) Disease

(1) i,iv,iil,v, ii (2) 1i,1v,iLv, 1l
(3) iiviii, v (4) i,ii,iv, v, ii

Abhishek is going toward north. He turns
Right, then again turns left, in the end he
turns right. Now in which direction is he
facing?

(1) North
(3) East

(2) South
(4) West

Gagan walks 15m toward west from her
office. She turns left and walks 18m and
then walks 15m towards East. Then she
turns right and walks 18m. Now how much
she is far from starting point.

(1) 15m (2) 18m

(3) 33m (4) 36m

Ashok is son in law of Maya. Nirmal is
wife of Ashok. Asim is son of Nirmal.
Manju and Chinki are sisters of Asim.
What is relation of Maya with Chinki?

(1) Maternal grandmother

(2) Maternal Aunt

(3) Grandmother

(4) Aunt

Shan is son of Asha. Arsh is son of Shan.
Bittu is sister of Arsh. Neena is mother of
Bittu, Kittu is daughter of Neena. What is
the relation of Asha with Kittu?

(1) Maternal grandmother

(2) Aunt

(3) Grandmother

(4) Maternal aunt

- If the day before yesterday was Sunday,

What will be the day after tomorrow?

(1) Thursday (2) Wednesday
(3) Monday (4) Tuesday

(03)

14.

15.

16.

17.

18.

19,

I fo8 Aot & nigy yds 3931 o9 5e5

J 3la 393te ¢ 3 IT ge ' g&:
(i) #BH (i) W3

(i) fommg (iv) THfr
(v) gt

(1) i,iv,iii,v, ii (2) 1i,iv, id,v, iii
(3) i iviii,il,v  (4) i,iii,iv, v, i

nifsha 839 femr eB uR 7 fgor 31 €9
AH U HZ famr, feg 8o ¥3 R vz famr
iz 87 e UH HF famrm | wifghia = Ha
gz fam fem fR5 372
(1) €39
(3) ys=

Q) s
@) YaH

JAs MUE Te39d 3 15 Hied UeH 2
go| feg 8T 9 UR T U3 d 18 Hied
91 feg 89 15 HieT yag S5 I fag
BR3 HA UH B 1T & 18 Hieg &t gt 3
&3t gz §u nrdfex fig 3 fat gat 3
37

(1) 15Hlesg (2) 18Htew

(3) 33Mies (4) 36MHeg

HTEm 87 ATt wiAd 31 WA ©F u3ar
fooH® T | foaH® T U39 wiFtH 31 niFt
Thort € 8=t Hig 3 it g5 1 wrfemr, st
ot ot Saret I |

(1) &t

(2) HH

(3) T

(4) gt

MHEUSTHS J| HS T USTNSH J|
nigr & 3% fig 31 fig & wz aler T
ateT & ot fdg I1 nmam, fg &F ot Barer
T
(1
(2)

st
38t
(3) =t
(4) HH

wog 03 dg 3 ¥ few ufost nige /it
3t wBE T® d% I ImiE ooz fes
Jari ?

(1) <=9
(3) FHET

gueTg
Ha®=g

2
4



20.

21.

22.

23.

24.

p

A cube of a side 18cm is cut into small
cubes of side 6cm. How many small cubes
can be formed?

(1 9 (2) 18

(3) 27 (4) 64

The ratio of areas of two circles is 16:81.
What is the ratio in their radius?

(1) 34 (2) 49

3) 916 (4) 16:81

The month November of a year starts with
Friday. Which is the first day of
December?

(1) Sunday (2) Wednesday

(3) Thursday (4) Friday

If Ist January 2024 was Monday, then

what day of the week was it on 1st January
20257

(1) Monday (2) Wednesday
(3) Sunday (4) Friday

which of the following years is a leap year?
(1) 2700 (2) 2400

(3) 1800 (4) 4200

If 25th of December in a year is
Wednesday, Then number of Tuesdays in
Decemberis?

(1 3 2) 4

3) 5 4) 6

Directions (Question 26-35)

There is a number/letter series following a
pattern. One place is left blank. Find out the
correct answer from options:

26.

27.

28.

29.

31,37,41,43,.........

(1) 44 2) 45
(3) 47 4) 49
5,6,9,14,21,.........

(1) 25 2) 29
(3) 30 4) 32
6,11,21,36,56,.........

(1) 76 (2) 78
3) 8l 4) 87
480,96,24,8,4, ........

(1) 1 2) 2
3) 3 4) 4

20. fEQ ISAHSA TBWES 6 AH T TG &<
T ¥Y dcE 3 I 38 wE gE5d1?
(1 9 @y o148 '
3) 27 4 o4

21, € T3 ¥ U39S 9 migums 16:81 T
875" & nigu faniAt &9 nizur3 &t Jearm?
(1) 3:4 (2) 49
3) 9:16 @) 1681

22. far 7% {39 5299 v Hde" 999 & B9
wjieﬂ}aﬁ?mﬁwfaﬂmﬂaa%a’n?
(1) wm3eg ) Soerg

v}

(3) <ge9 (4) Haged

23. #9901 A&l 2024 & RHEE H, 31
;ma?zozsgsi%\rasffem%arr?_

(1) AHRS 2) do=
(3) m3T9 (4) HIITI

24, I5 Tofunr At f&9° dtu v Arg fxasT 92

(1) 2700 (2) 2400
(3) 1800 (4) 4200
25. #ac fan A 25 THE9 § §Ue9 9 38R
A THRgq &9 fdd Hamerg d=ar?
(1 3 2 4
(3) 5 “4) 6

fegem (yrs 26-35)

3, R witmhaat fog et FET ) fer Agu &
Wﬁewaaﬁgwmsﬁmﬁ%ﬁ
I &9 :

26. 31,37,41,43..........

(1) 44 (2) 45
(3) 47 4) 49
27.  5,6,9,14,21,.........
(1) 25 (2) 29
(3) 30 4) 32
28.  6,11.21,36,56,.........
(1) 76 2) 78
(3) 81 (4) 87

29.  480.96,24,8.4,.........

() 1 2 2
3 3 {4y 4



30.

31

32.

33,

34.

33.

73.5,70.5,67.5,64.5,61.5.....

(1) 565 (2) 58.5
(3) 59.5 4) 60.5

3,3,6,18,72, .........

(1) 216 (2) 288

(3) 360 4) 432

4,9,19,39,79,.........

1 119 2) 129

(3) 139 4 159

DEF, HIJ, MNO,.........

(1) STU (2) RST
(3) TUV 4) STV
C4X,F9U,I16R,.........

(1) LK27P (2) L250
(3) L25P (4) K25P
275,7Y7,14X9,23W11,.........

() 34V13 (2) 34U13
(3) 33V15 (4) 33U15

Directions (Question 36-42)
Find the wrong/odd number or term from the
given questions:

36.

2%

38.

39.

40.

41.

42.

11,13,15,17,19,23

() 13 (2) 15

3) 19 4 23
27,64,125,216,256,343,729

(1) o4 (2) 125

(3) 256 (4) 343
G4T,J9R,N20P, P43N

(1) G4T (2) J9R

(3) N20P (4) P43N

(1) 5-12 (2) 20-21

(3) 34 4) 4-7

(1) Ramayana (2) Mahabharata
(3) Bible (4) Bhagavad Gita
(1) Cricket (2) Hockey

(3) Carrom (4) Volleyball
(1) Nose (2) Ear

(3) Liver (4) Eye

| (05)

30. 73.5,70.5,67.5,64.5,61.5.....

1) 56.5 @) 585
(3) 59.5 @) 60.5
1. 556101
(1) 216 () 288
(3) 360 @) 432
32, 4,9,19,39,79,.........
1) 119 @2) 129
(3) 139 @) 159

33. - DEF,HHI, MNO,.........

(1) STU (2) RST
(3) Tuv 4) STV
34. C4X,F9U,II6R,.........
(1) LK27P (2) 1250
(3) L25P (4) K25p
35. 275,7Y7,14X9,23W11,.........
(1) 34V13 (2) 34U13
(3) 33V15 (4) 33U15
fsgem (YRS 36-42)
ot 3 yrst &9 a&3/Rua vid 7 ue g&:
36. 11,13,15,17,19,23
(1) 13 2) 15
3) 19 4 23
37.  27,64,125,216,256,343,729
(1) 64 (2) 125
(3) 256 (4) 343
38.  GA4T,J9R,N20P,P43N
(1) G4T (2) J9R
(3) N20P (4) P43N
39. (1) 5-12 (2) 20-21
(3) 3-4 4) 4-7

40. (1) IHfEE (2) HIBEZ
(3) TEES (4) FI=I AT

41. (1) fg=e (2) Tt
(3) M 4) THITH

42. (1) 3 Q) ds
(3) frag 4) niy



Directions: (Question 43-47)

In each of the following questions, out of 4
figures, three are similar in a certain way and one
is not like others. Find out the figure which does
not belong to the other three figures.

43,

(1) (2) (3) (4)
44,

(1) (2) (3) (4)
45,

EH AR

(1) (2) (3) (4)
46. |

(1) (2) (3) (4)
47.

>< }K N N

N\
(1) (2) (3) (4)

Directions: (Question 48-51)

In each of the following questions choose the
correct water- image of figure (X) from amongst
four given alternatives

48.
(x) (1) @ & @

49.
(1) @ & @&

(x)

(06)

fseerm (Yps 43-47)
53 i 95, Ae fa ffa fdza Sy I, Sy fdzg <t
gE &9

43,

(1) (2) (3) (4)
44,

(1) (2) (3) (4)
45,

S EH A

(1) (2) (3) (4)
46.

(1) (2) (3) 4)
47.

(1) (2) (3) (4)

fosoem (yrs 48-51)
Jat fe3 fozg (X) © Ut © otx yIiag & &3
feamut feT ST o9

48. .

(x) (1) @ & &
49.

(x) ) @ & @&



50.

X %

i

s

® n o 6 @
;8
| VA(‘A : A ¢ A & v 4 v
®) 0@ e ®

Directions (Question 52-55)

Each of the following question constitute (A),
(B), (C) and (D) as question figure while
(1),(2),(3) and (4) constitute answer figures.
Select a answer figure which will continue the
series established by figures (A), (B), (C) and (D)

52.  Question Figures
< <] ?
(A) (B) © (D)
Answer Figures
OO0
(M 2 3 C
53.  Question Figures
| ?
(A) (B) (&) D)
Answer Figures
(1 (2) (3) (4)
54.  Question Figures
| & |07 ?
(A) (B) © (D)
Answer Figures
(1) (2) (3) 4)

(07)

50.
K BK PR bR bk
(x) (1) 2) (3) 4)
51.
i R AN
(X.) (' 1 ('2.) (.3) (4.)

fsgem (YAs 52-55)

Jot fe2 ymst 99 939 (A), (B), (C) 3 (D) yFs
B39 95 (1),(2), 3) iz @) €33 fozg o &3
839 fosqt &9 sta f39 &t 9= &9, far &®
(A), (B), (C) 3 (D) fI33" € %31 T nigrw fd=39
YUz Iae |

52. yAas 39
< 3 <] ?
Ay @ © O
ol el mil@
(1) (2 (3) (4)
53. ymsfdzs
& ?
A ® (© (D
839 fgzg
(1) (2) 3) (4)
54, yms 939
ONF\OF| ?
A  ® (© (D
EECAEES]
Veadl Vol Wo st W%
QWi @@ & @&



55,

56.

L

58.

Question Figures

ollll Bl @] 2

(A) (B) © (D)

Answer Figures

O €] €]

G

(1) 2) 3) (4)

Count the Number of triangles in figure:

(1) 6 2) 8
G 7 “ 9

Count the Number of triangles in figure:

L

el E 2) 16
(3) 17 4) 18

Count the Number of squares in figure:

(1) 20 ) 25
(3) 28 4) 30

(08)

33,

56.

57.

58.

s 939

©1|[| B[] 2

(A) (B) ©) (D)

Blillelllle

G

(1 2) 3) (C)

fgzq &g fagat ot faest ¥R;

A
X_X
%

(1) 6 2) 8
3) 7 @4 9
39 Tg egar ot o=t on:
(1) 15 2) 16
(3) 17 (4) 18
39 o =gar f forest ©R:
(1) 20 2) 25
(3) 28 ) 30




Directions (Question 59-60)
In following questions count number of cubes:

59.

60.

61.

62.

63.

64.

A
(1) 25 (2) 29
(3) 30 4) 32

1) 12

(3) 15

If A=+,B=—,C=+,D=x thenfind the
valueof 20C4B3A15D1

(1 17 (2) 18

3) 25 4) 15

If+= — —=+, +=x, x =+, then find the
valueof19+3-7+30x6

(1 32 (2) 59

(3) 62 (4) 68

Which of the following word cannot be
formed from the letters of the word
'ORGANISATION'
(1) SATAN
(3) GRANT

(2) RECOGNISE
(4) NATION

Which of the following word can be
formed from the letters of the word
'CHOCOLATE'
(1) COOLER
(3) HEALTH

(2) TALE
(4) TELL

(09)

fsgem (YRS 59-60)

ot yRst g uet @ fedt a9
59.
=
1) 25 @) 29
(3) 30 @) 32
60.

61.

62.

63.

64.

7\
.\\\\\\\\v
0

\

NA

12
13

(1
3

q A=+B=-,C=+D=x IR F I

foftmif T s UsT a9 -

20C4B3A15DI

(1 17 (2) 18

(3) 25 ) 15

A+ -, —=++=x,x=+J2 IS
fofimit g7 HB U3T &9 -

19+3-7+30%6

(1) 32 2) 59

3) 62 4) 68

Adt €39 g A E3 o

'ORGANISATION' Hg€ 3 &d1° gfen|

(1) SATAN (2) RECOGNISE
(3) GRANT (4) NATION

Adt €39 & 7 &3 a® 'CHOCOLATE'
Hae 3 gfan I

(1) COOLER
(3) HEALTH

TALE
TELL

(2)
4)



65.

66.

67.

68.

69.

70.

.

In a certain code language 'MONKEY" is
written as "XDJMNL', How can 'TIGER'is
written in that code language?

(1) UJHRS (2) SHFDQ

(3) SDFHS (4) QDFHS

In a certain code language 'TEACHER' is
written as 'VGCEJGT', How can
'CHILDREN' is written in that code
language?

(1) EJKNEGTP
(3) EJKNFGTO

(2) EGKNFITPY
(4) EJKNFTGP

In a certain code language 'CHAT' is
written as 'SUZBGIBD', How can 'APT' is
written in that code language?

(1) SUOQZB (2) SUOBZQ

(3) SUOQBZ (4) SUOzQB

If 'PRABA' is coded as '27595' and
"THILAK' is coded as '368451', How can
'BHARATHI' be coded? .

(1) 96855368 (2) 96575368

(3) 57686535 (4) 37586689

If'green’ is called 'red', 'red is called 'blue’,
blue' 1s called 'white', 'white' is called
'yvellow', 'yellow' is called 'violet', then

what is the color of sky?
(1) Blue (2) Red
(3) Yellow (4) White

In certain code language
256=gotoschool, 146 = study in
school 236 = run to school, then what digit
1sused for'go"?
I 3

(3) 2

2) 5
(4) 6

Identify the diagram that best represents
the relationship among Ludhiana, Punjab,

Karnal.
©o @ rel
(1) (2) (3) 4)

(10)

63

66.

67.

68.

69.

70.

71.

[s)

far 3T I3 8 'MONKEY' 3
"XDIMNL!, fsfemr afer 31 €R s &

€9 'TIGER'? fa=” f&fimir Arear?
(1) UJHRS (2) SHFDQ
(3) <DFHS (4) QDFHS

o

far 3T &5 f¥9 'TEACHER' 3
'VGCEIGT fosfemr 7/ 31 87 3 o=
€9 'C HILDREN' § fa&" fasfemir Fraam?
(1) LIKNEGTP (2) EGKNFITPY
(3) LIKNFGTO (4) EJKNFTGP

fa]

fsA gAT a3 <9 'CHAT' 3 'SUZBGIBD!,
fesftmr AfeT 71 8F g7 a3 &9 'APT' &
foa=® fosfemr Arear?
(1) SUOQZB
(3) SUOQBZ

fai gaT a5 9 'PRABA' § '27595' i3
'THILAK' 3 '368451" fsftmr Afer J1 R
3T &3 fE9 'BHARATHI § fa=" fafimr
AT

(1) 96855368
(3) 57686535

(2) SUOBZQ
(4) SUOZQB

(2) 96575368
4) 37586689

farwagm as feg
256 =gcotoschool,
236= runtoschool,

3t g0’ BT {qIF nia =9f3n Araam?
(1) 2 @) 5
3) 2 4 6

8r fo39 & 9 a9 A Sfmrsr, Uarg »3

146 = study in school

@ @D ol

(D (2) 3) “4)



Directions (Question 72-76)
Understand the given figure and answer the

following questions:
Players
4 17 /—Doctors
25
30 \ 22 8

T2

13

74.

15.

76.

¥z,

78.

— Artists

Rectangle represents Artists, Circle
represents Players and triangle represents
doctors.

How many players are neither artists nor
doctors?

(1) 25 2 22
3) 4 4 17
How many artists are players?
(1) 3 2) 8

(3) 22 4) 30

How many artists are neither players nor
doctors?
(1) 8

3 22

Q) 25
@) 30

How many doctors are neither players nor
artists?
1 4
(3) 3

) 8
@) 17

How many doctors are both players and
artists?
(1 4
3) 3

(2) 25
4) 8

Adis taller than B, C is shorter than A, D is
taller than E but shorter than B and C, then

the shortest person is:
() B 2 C
3) D (4 E

Five boys P, Q, R, S and T took part in a
race. P finished before Q but behind R, S
finished before T but behind Q. The person
who won the race is:
(1) p
3 S

(2) R
@ T

(1D)
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Directions (Question 79-82)

Answer the following question by reading the
given statements:

There are five lecturers in a college, P and Q were
teaching Chemistry and English, Q and R were
teaching English and Economics, S and P were
teaching Mathematics and Chemistry, T and Q
were teaching Physics and Computer Science.

79.  Who among the following was teaching
maximum number of subjects?
D Q (2) R
3) S 4 T

80. Which of the following pair of lecturers
was teaching both Mathematics and
Chemistry? :
(1) PandQ (2) SandQ
(3) RandQ (4) PandS

81. More than two teachers were teaching
which subject?
(1) Mathematics
(2) Chemistry
(3) Economics
(4) Computer Science

82. Which of the following pair of lecturers
was teaching both Physics and Computer
Science?
(1) SandQ (2) TandQ
(3) RandQ (4) PandR

Directions (Question 83-84)
According to the specific pattern fill the blank
spaces of letter series in the following questions:

83. mb m a bam a
(1) abmb (2) abam
(3) ambm (4) aabm
84. NG O_GC_NG_
(1) OGNCO (2) CONGC
(3) OCNOC (4) OCNCO
85. How many times digit 1 is used when we
write counting numbers 1 to 100.
(1) 10 2) 11
(3) 20 4) 21

(12)
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86. How many numbers between 1 to 80 which
are divisible by 3 but not divisible by 9?
(1) 10 2 15
(3) 18 4) 20

87. What will be the angle between two hands
ofaclock when time is 3:30?
(1) 60° Q). 15
(3) 80° 4) 90°

Directions (Question 88-90)

Each of the following questions choose the
correct mirror image of figure (X) from the given
alternatives:

88.

valasaley

() @) ©)) 4)
89.

x)

(M @) ©) Q)
90.

(@) Ol |O @)
g i e AL
(1) @) 3) )

91. When we press the bulb of a dropper with a
nozzle kept in water, air in a dropper is
seen to escape in the form of bubbles.
Once we release the pressure on the bulb,
water gets filled in the dropper. The rise of
water in the dropper is due to.

(1) Pressure of water

(2) Gravity of the earth
(3) Shape of rubber bulb
(4) Atmospheric pressure

86. 13 80 feu ow fdamit Hftmiet I5 7 3
&% 1 T HET I& UT 9 5% &It

(1) 10 @ 15
(3) 18 4 20
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g 74

9.

94.

95,

96.

97

98.

Gurpreet went to Amritsar with his
parents. There he visited Golden temple.
He saw the fishes Swimming swiftly in
water. Which of the following feature of
fish helps a fish to move through water
with minimum friction?

(1) Streamlined body

(2) Gills

(3) Fin

(4) Tail

The Loudness of sound depends on...

(1) itsfrequency (2) itstime period
(3) itsamplitude (4) itsspeed

Which of the following metals is used in
electroplating to make objects appearance
shining?
(1) Iron
(3) Chromium

(2) Copper
(4) Aluminium

Angle between two mirrors is 90° How
many image will be seen to you?

(1 4 2) 3

3 2 “4 0

The Tectonic plate responsible for causing
earth quake is

(1) thecrustofthe earth

(2) themantle of the earth

(3) theinnercore of the earth

(4) the outer core of the earth

The distance between two stations
Ferozepur and Chandigarh is 200km If it
takes 5 hours to cover this distance.
Teacher asked his students that, which of
the following represents the speed of
train?

(1) 50Km/hr

(2) 60Km/hr

(3) 35Km/hr

(4) 40Km/hr

An object is vibrating at 50 hertz. What is
its time period?
(1) 2Sec

(3) 0.28ec

(2) 0.02Sec
(4) 20.0Sec

(14)
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99.

100.

101.

102.

103.

104.

Jaspreet and Manoz are pushing each other
with same force but in opposite direction
The net resultant force is

(1) zero

(2) sumoftwo forces

(3) Difference of two forces

(4) Noneofthese

Ram and Shyam are discussing the

advantages and disadvantages of friction.

Which of the following is example of a

benefit of friction

(1) friction slows down the motion of an
object without any need.

(2) Friction produces undesired heat.

(3) Friction causes wear and tear.

(4) Friction enables us to walk.

Which of the following does not conduct
electricity?

(1) Lemon solution

(2) Vinegarsolution

(3) Sugar Solution

(4) Naclsolution

Visually impaired people can read and
write using

(1) Electronic writes

(2) Braillesystem

(3) Digital pens

(4) Hearingaids

Tincan used for storing food are made by
electroplating. tin on iron why?

(1) Tingivesashiny appearance

(2) Tomake the vessel cheap.

(3) Tinislessreactive than Iron

(4) Tomake the vessel lighter.

Manish heated a definite amount of
water from lkg of cow dung and 1 kg of
coal separately. He observed that coal
produced more heat than cow dung. It is so
because of

(1) calorific value

(2) Ignition temperature

(3) Fuelefficiency

(4) Noneofthese

(15)
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105.

106.

107.

108.

109.

110.

What effect does turmeric have when mixed.
with a basic solution?

(1) Itturns pink.

(2) Itturnsred

(3) Itturnsyellow

(4) Itturnsblue

Identify the substance which is tough,
porous and black It is almost a pure form of
carbon.

(1) Crudeoil
(3) Coalgas -

(2) Coaltar
(4) Coke

Manjot had seen a brown layer on a piece of
iron Querying about which she came to
know it is formed due to the reaction with
humid air outside. What is that substance.

(1) Iron

(2) IronPowder

(3) Rust

(4) Noneofthese

Which of the following candle flame zones
is characterised by the deposition of
unburned carbon particles ?

(1) Luminous zone

(2) NonLuminous zone

(3) None

(4) outerzone

Which of the following set of substances
contain acids?

(1) Grapes, lime water

(2) Vinegar, milk of magnesia

(3) Curd, milk of magnesia

(4) Curd, Vinegar

The teacher explained to the class that
petroleum and natural gas produce many
useful called petrochemicals. These
substances are used in

(1) Inmaking polymers

(2) Inmaking detergents

(3) Inmaking plastics

(4) Alloftheabove
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111.

112,

113,

114.

115.

116.

On Gurupurab night, Vansh light lots of
candles in his home. He noticed that their
length decreased over time, although they
were still lightening. Vansh wanted to know
what type of change takes places when a
candle burns?

(1) onlyphysical changes

(2) onlychemical changes

(3) Bothphysical and chemical

(4) Nochanges

It 1s dangerous to burn wood in a room The

gas x produced can be fatal to the person
sleeping in the room Identify the gas x.

(1) CO: @) CO

(3) SO, (4) N

Which base is found in window cleaner?
(1) Ammonium hydroxide

(2) Sodium hydroxide

(3) Calcium hydroxide

(4) Magnesium hydroxide

Which of the following causes water

pollution?

(1) Disposal of untreated sewage into
water bodies

(2) Disposal of untreated industrial waste
into water bodies.

(3) Excessive use of pesticides and
fertilisers

(4) Alloftheabove

Which of the following is not a Petroleum
product?

(1) Kerosene
(3) Paraffin wax

(2) Beewax
(4) Bitumen

Shyam was cooking potato curry on a
chulhato his surprise, he observed that the
copper vessel was getting blackened from
outside. It may be due to

(1) Proper combustion of fuel

(2) Improper cooking of potato curry .

(3) Improper combustion of fuel .

(4) Burning of copper vessel.

(17)
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118.

119

120.

12%

122.

Acne and pimples on the face are due to
secretion of 7

(1) Sebaceous gland

(2) Thyroid gland

(3) Pancreas

(4) Noneofthese

Match the Microorganism given in column
A to the group to which they belong in
column B

Column A Column B
(A) Lactobacillus (i) Algae
(B) Aspergillus  (i1) Protozoa
(C) Spirogyra (ii1) Fungi
(D) Paramecium (iv) Bacteria
(1) A-i,B-ii, C-iv, D-ii

(2) A-i,B-ii, C-iii, D-iv

(3) A-iv,B-iii,C-1,D-11 -

(4) A-iii, B-iv, C-i1, D-1

In today's world where water is a scarce
resources. which of the following
irrigation methods is most feasible and
sustainable.

(1) Sprinkler system

(2) Dripsystem

(3) Tubewell

(4) Chainpump

Rajesh saw slimy green patch floating in
the pond of his village. What that patches
of green colour are called.

(1) yeast (2) Xylem

(3) Algae (4) Phloem

Which of the following is dispersed by
explosive mechanism.

(1) Drumsticks (2) Coconut

(3) Urena (3) Balsum

Enzymes present in saliva undergoes.
Which of the following Conversions?

(1) Proteinsinto amino acids

(2) Starch into simple sugars

(3) Fatsinto fatty acids and glycerol

(4) Bothland2

(18)
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123.

124.

125.

126.

Match the von equipments given in
column I with their uses in Column IT

Column I ColumnII

(P) Hoe 1.  Sowing of
Seeds

(Q) Secd drill 2. Harvesting

(R) Sickle 3.  Anirmrigation
system.

(S) Sprayer 4. Removing
weeds.

(T) Moat 5. used for
spraying of
weedicide

(1) P-1Q-2R-3S4T-5

(2) P-4Q-2R-1S-5T-3

(3) P-1Q-4R-5S-2T-3

(4) P-4 Q-1 R-2 8-5 T-3

The physical features which help to
distinguish the male from the female are
called

(1) Sex Chromosome

(2) Primary Sexual Characters

(3) Secondary Sexual Characters

(4) Allof these

Ramesh knows that the meaning of
reproduction is to give birth to living being
like one's self. He wants to know which is
the first step of reproduction in humans?
(1) Fertilization

(2) Development ofembryo

(3) Ovulation

(4) Menstruation

Which of the following mentions the role
of the bacteria in leguminous plants?

(I) Converts oxides of nitrogen into
nitrates

(2) Converts atmospheric nitrogen gas
into nitrates.

(3) Converts soil nitrates. into gaseous
nitrogen.

(4) Convert plant proteins into
ammonia.

(19)

123.

124.

125,

126.

I®H A feg f£3 v39t ov awH B &9

o3 Butiar 5% fuws a9 |

TEH A T®BH B .
(P) It 1. g faaet
Q) HHwsfew 2. A% S FeEt
(R) ==t 3. fegfiest

' fAmeH
(S) AUIMT 4, BT ISR
(T) fugstysdt 5. adleama &

fegamr st

(1) P-1 Q2R-3 S4 T5

(2)
3)
(C))

P-4 Q-2 R-1 S-5 T-3
P-1 Q-4 R-5 S-2 T3
P-4 Q-1 R-2 S-5 T-3

faoz Adlea o=t & ®Eet a96 e,
ni9s, feaen I f9s Je as |

(1) fSaftg=nzs

2) HefHatmes

(3) Fusd Bt wes

4) SBudazHT

IHE AEer J fa yasE 3 32 I i@ T9ar
J9 T Ue q9a| 8T wEsT gder ¥ fX
He ut fe's yrase yfafonr & ufgs uzmy
ot T ? 3T AL ot I |

(1) fsrgs

(2) sIEefean

(3) wiszTd

4) Hfragag

sdterg Ufentt fe'g Sadtdor & ot gfiar
ol
(1) FECHAS € waAEs § selee fe'g
gEBE T5 |

TEHSS B FTEIGHS IH § FEeT
feo gese 75 |

et T seiee & dHt aretens feg
gE%E 6 |

Ufentt € Y2ts & niiahar i seae
TS|

2
3)
4)



12%.

128.

129,

130.

131.

132.

133

What causes the dough to rise when yeast

isaddedtoit.

(1) Anincrease in temperature.

(2) An increase in the amount of
substance.

(3) Anincrease inthe amount of released
water by yeast cells.

(4) Therelease of carbon dioxide gas

Breathing is a process that

i.  provides O, tothe body'

ii. No breaks down food to release
energy. :

iii. helpsthebody to getrid of CO,

iv.  Produces water in cells

Which of the following gives combination

of functions the correct of breathing?

(1) 1i. and ii. (2) ii.andiii.
(3) i.and iil. (4) ii.andiv.
Which of the following is a parasite?
(1) Algae (2) Cuscuta
(3) Mushroom (4) Yeast

Which of the following pair of teeth differ
in structure but are similar in function?

(1) Caninesand incisors

(2) Premolar and canine

(3) Incisorsand molars

(4) Molarsand Premolars

-3
By what number should 1 be multiplied
so that product is % ?
5 -4

S @)

-3

w | B

€) (4)

If 6y and 60° are the adjacent angles of a
rhombus then the value of y will be

(1)’ 15° (2) 90°

(3) 60° 4) 20°

The probability of getting a red ball from a
bag containing 10 blue balls.

0

@) 1

2 0

@ 1
5

(20)

127.

128.

129,

130.

131.

132.

133.

e w2 ® g wits fue & Thmr e 3,
Itne fa@ e Aer I?

(1) TUNSITTESIGS

(2) YEHEEHITIUS IS

(3) ¥HIRBEAITTUR EFTIIS

(4) oIEE SENIATES UTT I 96

g & feg yfafanr a7
i. TSSO, yEETFITII

ii. EGoTEsTHErIAsdadt 33T
iii. 79 & CO, T geao ue 9
HEE ITET J |

iv. e fegudderaeerd]

fegst &9 faoz A9 &z € ar9qt @ A
AR feer 37

(1) i and ii. )
(3) i.and iii. 4)

It fo 3 fo5° faazT yartst 397
(1) aret Q) "HIRH
(3) v (4) oime

JUTaHfEE IS I ¢
() FEnm3f3ude
(2) UsIn3EE
(3) 3y den3iwg
(4) FEIMI Y HST
3

ii. and iii.
ii.andiv.

& foaadt At &% g I9tE 3t A

“ 16

; -4
(1) ; @

-5 4
3y 4 5
Had 6y i3 60° £ AHO39H © 4R
= T6 3Ty T HB ot g ¢
(1) 15° 2) 90°
(3) 60° 4) 20°
f¥a 8% far &g fAge 10 St&m def 75,
&% fov s dre fuee ¥ AgeeT -

1
m 2 0

1

3) |1 4) z



134.

135

136.

137.

138.

139.

140.

141.

142.

143.

if 5°'=5"then what will be value of x?

1y 2 2) 3
(3) 4 4 1

Standard form of 1040352 is
(1) 1.040352x10°
(2) 1.040352x10’
(3) 1.040352x10°
(4) 10.40352x10°

If 15 men can build a wall in 24 hours. How
many more men will be required to do the
same work in 18 hours?

(1) 20 (2)
3) 5 4)

12
10

p’-p=

(1) p(p+1)

2 p®-1)(p+1)
(3) pp-1)

4) p@-D@E+D

Value of 57x105+57 x(-5) is

(1) 570 (2) 5700

(3) 6270 (4) -5700
Which of the following point is lying on x-
axis

(1) (0,3) 2 (1.2

(3 23) (4) (4,0
(32+42)0=

(1) 49 (2) - 25

3) 1 4 14

What will be the length of side of a cube
whose total surface are a is 600 cm’

(1) 20cm (2) 10cm

(3) IScm (4) 100cm

If 3x=153’-147" then value of x will be
(1) 600 (2) 300

(3) 200 (4) 1800

Which of the following number is divisible
by 9?

(1) 2345
(3) 5167

Q) 7542
(4) 8059

21

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

A9 57 =5’ J=2 3T x THG ot = ?

1) 2
3) 4

@) 3
@ 1

1040352 =7 finrst gu
(1) 1.040352x10°
(2) 1.040352x10’
(3) 1.040352x10°
(4) 10.40352x10°

H 15 nrert f8a du § 24 ufent G5
FT8T T5 3T 18 Wfentt e @A AH § yar
96 BEt fda 99 Sfemt & &3 u=att ?

(1) 20 2) 12

(3} . 5 4 10

p-p=

(1) pp+1)

(2) p-1)(p+l)
(3) pip-1)

4) pp-D)(Et+])

57x105+57 x(-5) T H& J=aT |

(1) 570 (2) 5700

(3) 6270 4) -5700

I5 fefimit fR9° faosr fig x o9 3 mfEs
37

1 ©3) @ 12

3 23 4 40

(32+42)u=

(1) 49 () 25

3) 1 4 14

& w= & 377 O Saret ot Jat 7 we &t
B AT T U39 600 TIIT AH I< |

(1) 20 A (2) 10 AT

(3) 15 R (4) 100 A.HT.

T 3x=153’-147" 3 x T & I -

(1) 600 (2) 300

(3) 200 (4) 1800

I &t Aftmret &5 fagst Aftmr 9
&% IHGEI I ?
(1) 2345
(3) 5167

7542
8059

(2)
)



144.

145.

146.

147.

148.

149.

150.

151.

152

3
Inapart 2 of the total persons are men and
rest are women. If there are 96 men, how
many persons are there in total?

(1) 256 (2) 160

3) 124 (4) 320

Value of -3-5+7is____

(1) 15 2) 1
-(3) -1 4 -15

If a side of a cube is doubled then its
volume will be how many times of
previous one?
(1) 2times
(3) 16times

(2) 4times
(4) S8times

How many natural number lie between 15
to 757

(1) 60 2) 59

(3) 61 4) 58

Ones digit of 1823’ is

1 3 2 9

3) 7 4) 6

By what number 288 should be divided to
make it a perfect square

(1) 5 (2) 4

3) 3 @ 2

If mean of 2,7,6,8 and m is 5 then value of
mis

(1) 5
(3) 2

2 4
@ 6

The begenning of the modern period in
India is considered it have Started after the
death of mugal Emperor Aurangzeb

in century.

(1) 16th (2) 15th

(3) 18th (4) 17th

The British fought carnatic war against
which European Power?

(1) Portuguese  (2) Dutch

(3) German (4) French

(22)

144

145.

146.

147.

148.

149.

150.

151

152,

(1) yFZIars

wreHt I8 W3 gt »igsT 75| A9 U9
P S T
Feniaret 3 7

(1) 256 (2) 160

(3) 124 4) 320

3-5+7T TTHS I -

(1) 15 @) 1

(2. 4) -15

T fan wz €t gar § TaT &9 o3 A< 3
for e nifess ufost 3° fdd =T  Arear?
(1) 2@ (2) 4=

(3) 167 4) 8T=

15 3 75 ¢ fegag fdami yfaefza
Aftmrst g ?

(1) 60 2) 59

3) 6l 4) 58

1823" =" feqret nix 32ar -

(1 3 @2 9

G) 7 ) 6

288 & fagdt Aftmr 5% 3191 41E fa €9
YJa TIA EE AR

(1) 3 2 4

@) 3 “4) 2

q2,7,68M3mE HUHG 532 3T mer
H&® J2ar |

(1) 5 2) 4

3 2 4 6

393 T8 wufed a® & »idg_ Ael
fe'g yI® gerT widdwg © H3 fUE
JIfemr |

(1) 163
(3) 18

158t
7=t

2)
“4)

37
2 39
(4) TIHHAT

(3) TIHA




153,

154.

156

157.

Match correctly '
(a) Sir'sayyid (1) Revolt of 1857
Ahmed khan
(b) BirsaMunda (ii) Namdhari
Andolan
(c) Mangal Panday(iii) Aligarh
Andolan
(d) Satguru iv) Tribal Revolts
Ram Singh
v)  Singh Sabha
Andolan
a) b) c) d)
I Gy @) G ()
@ @ G @ (i)
3 @@ W (i) (i)
4 (i) @ (i)  (iv)

What was established by Bhagat Singh in
1926 AD?

(1) GadarParty

(2) Naujawan Bharat Sabha

(3) Indian National Congress

(4) AzadHind Fauj

Amrita shergill and George Keet were
famous Indian ‘
(1) Novelist: (2) Sculptrist

(3) Poet: (4) Painter
Match correctly:
(a) Rabindranath (i) DAV School
Tagore
(b) Swami (i) Theosophical
Dayanand Sarswati Society
(c) Swami iii) Shanti Niketan
vivekanand
(d) Annie Besant (iv) Ramakrishna
' Mission
(v) Aligarh
University
a) b) c) d)
(1 ) (ii) (iii) (iv)
(2) (i) ) ) (i)
(3) (i) @) (iv) (ii)
@ @) (iii) (ii) )
Shri Guru Gobind singh ji established
Khalsa Panth in 1699AD at

(1) Amritsar Sahib
(2) Anandpursahib
(3) PatnaSahib

(4) Chamkaur Sahib

(23)

153.

154.

155.

156.

154,

Adt fues a9 -

(a) AIATE (i) 1857%t. @
nifore yt fegdg

(b) fagrm s (i) BHUS nieHs
(c) HIBu3 (i) MBS nieSE
(d) Afzag I fitw (iv) Fafest feeso
(v) fAwAg nigss

a) b) c) d)

(1) yG) (v o G G

@ G G @) (i)

3 @ @) (i)

@ ) @ (i)  (iv)

a3 fiw & 1926 ot fe'g fapdt Aauwr
st ?

(1) IEguaet

(2) B7S ITI AST

(3) &5 3 aiger

4 raefieda

vif3 Befors 3 Aon oie yfig srast

HE |
(1) 3=sHAg (2) ¥3-39H
(3) a=t 4) fozgaa
AJt fHes &9 ;-

(a) IReIsEEg() sFt2AAas
(b) FeMtTwde (i) foGHIEa®
AIR=St AATEST
(c) met feRade (i) =3t faass
(d) wStERZ (iv) I fgus fHEs

v) nElkhg
- gateafact
a) b) c) d)
(1) @) (i) (iii) (iv)
(2) (i) (1) ) (ii)
(3) (i) ) (iv) (ii)
4 (@) (i) (i) ()

o 9 Jife fifw 7t 3 1699 & e
few ywaT Yg €t ArgusT it

(1) »ify3AT Afog

(2) deud ATfag

(3) ues Ffog

(4) YHIT Afag



158.

159.

160.

161.

163.

164.

165.

166.

@
162.

After the Battle of Plassey, whom did
Robert clive Place on the throne of
Bengal?

(1) siraj-ud-daula .

(2) Muhammad Raza Khan

(3) ShahAlam

(4) MirZafar

In India, who is considered the founder
of the civil services and Police
administration?

(1) Lord Cornwallis

(2) LordDalhousie -

(3) Lord William Bentick

(4) LordRippon

Who said, "Swaraj is my birth right and I
shall haveit".

(1) LalaLajpatRai

(2) BalGangadhar Tilak

(3) Viponchandar pal

(4) Sohan Singh Bhakna

What resource is coal which is buried
under earth surface.

(1) Bioticresource

(2) Potential resource

(3) Inexhaustible resource

Soil resource

Approximately Percent of
India is mountainous.
(1) 43%

3) 7%

2) 30%
@) 50%

Which type of soil is found in most (almost
45%) Parts of India?
(1) Alluvialsoil
(3) RedSoil

(2) BlackSoil
(4) Desertsoil

________ is black, brown or white
transparent substance/ material.
(1) IronOre (2) Manganese

(3) Mica (4) Bauxite

What is the temperature required to grow
wheat?

(1) - 10°C-20°C
(3) 35°C-45°C

(2) 20°C-30°C
(4) 50°C-60°C

An 11- Character code Identifies a bank
and its branch...

(1) MICR Code

(2) IFSCcode

(3) Cheque Number

(4) Cheque code

(24)

158.

159.

160.

161.

162.

163.

164.

165.

166.

USH It FITE 3 IiT TE9C THEIR B
famd gars &t gwarel '3 faarfen 2

(1) frew-Be-d

(2) HIHE THH

(3) EINBH

(4) Higa=d

3793 fg fires Aafen 3 ufer ydu o 1=t
fomd ¥ifomm wier 3 2

(1) 95 TToeTEH

(2) @IS 3B

(3) =Is fedmm Bfda

4) w95 fous

"REIH HaT #aH AT niftag 9 »i3 A
fersd yuz g9 3ot feg aus famer 37
(1) THFIHUIIE

(2) ¥%damug 38

3) feusdegus

(4) FIE fwsasT

ggst 95t i aw faogT Aos 99
(1) v=rAus

(2) FIfRIAUS

(3) & -HIEHI AUS

(4) ferAus

FTI3 T BAFdl
(1) 43%
3) 71%

% foAT uTT St I |
() 30%
4) 50%

g3 © AF I T (HISd 45%) foR 3
faagt fdt uret /it 37

(1) weEtfHd (2 aEfuet

3) s (4) wgEs et

| TS, 3 A ASE 941 T UTTETH!
UTT9E JeT I
(1) wgTdIr (2) A
(3) r»EIA (4) FaATES

grdter 37

(1) 10°C-20°C (2) 20°C-30°C

(3) 35°C-45°C  (4) 50°C-60°C

11 gt o feg I Jer J, 7 8 2 En<t
YT O UETE J9e8 e I

(1) MICR Code

(2) IFSCcode

(3) Cheque Number
(4) Cheque code




167. What is the minimum limit for transactions

168.

169.

170.

171.

172.

173.

174.

through RTGS?
(1) Tenthousand rupees

" (2) onelakhrupees

(3) Twolakhrupees
(4) Nolimit

What is Richter scale?

(1) To measure the intensity of an
earthquake.

(2) To measure the damage caused by an
earthquake.

(3) Tomeasure the speed of floods.

(4) Tomeasure the speed of Tsunami.

In which country earthquakes are
common?
(1) USA
(3). Japan

(2) India
(4) Canada

Which mineral is also referred as 'Liquid
gold"?

(1) Uranium
(3) Diamond

(2) Petroleum
(4) Dolomite

Who said, "Democracy is the government
of the people, for the people, by the people.
(1) Abraham Lincoln

(2) Laskey

(3) David Easton

(4) Rabindernath Tagore

What is the total number of members of

Punjab vidhan Sabha?
(1) 13 Q). 117
(3) 545 4) 07

How much time did it took to Prepare the
constitution of India?

(1) 1lyear 1l months, 12 days

(2) 2years,3 months, 18 days

(3) 2year, 11 month, 18 days

(4) 1year,2month, 15 days

What is the electronic media for Public

communication.
(1) Magazine (2) News Paper
(4) Journal

(3) Television

(25)

167.

168.

169.

170.

171.

172,

113.

174.

RTGS T’ 3= ¥ 996 & Wwe-u'e
HHT ot 39

(1) THIAT U

) feazugue

(3) EBUIUR

(4) S HHTES

foaeg thar (Richtor scale) 7

(1) 3o et 3ga3T & HUET

(2) ITH AT AN FEAAS § HUS
(3) THTHEIHUT

(4) wEH & arEt § HuE

foam 2w fe'g 3ot & ni@er i 37
(1) @MR.E (2) 393
(3) "u=s (4) 33T

foam ufsw & ‘39% AY’ ¥ & 5% i

Her d?
(1) g8 2) UeIBmH
(3) dtar (4) Beufee

T - feg fare aus 767
(1) feggfon @Bas

(2) ®Hat

(3) 3fesdres

(4) fEeIzE T

Uy 2 feus AeT @ AEat O O fasHt
TH

(1) 13
(3) 545

Q) =447
@4 07

393 = Hfeus famg &35 & fdar Anf
& famir?

(1) 173, 11 HdS, 12 fes

(2) 27, 3HJS, 18 fes

(3) 27, 11 HJ1®, 18 fes

4) 17, 2Hds, 15 fes

A63x Ho'g ¢ farset Arus © & &/ |
(1) Harls (2) mygd
(3) H<EES 4) IS



173

176.

17%

178.

179

130.

"Read all grow all" is the logo of:

(1) Rashtriya Madhmik Siknya Abhiyan
(2) Sarvshiksha Abhiyan

(3) Rashtri Sakhrta Mission

(4) Punjabschool education board.

"Under which article of the constitution is
the Right to education?

(1) Article21 (2) Article21 A
(3) Article20 (4) Article20A

"What it the age of adulthood in India?
(1) 21years (2) 18years
(3) 24years (4) 22years

To Become the Governor of a State in India

itis necessary that the Person:-

i)  isacitizenofIndia

ii) is on any of the government.
Position.

ii) isatleast35 yearsofage.

iv) ismentally fit

(1) (@), (@), (1)

(2) (i), (i), (iii)

(3) (1), (i), (ii)

@ (@), (i), (iv)

India's higest court is -
(1) High court

(2) Supreme court
(3) People'scourt
(4) Districtcourt

How many members can be nominated by
the president in Rajya Sabha?
(1) 8 2) 12
3) 02 4 10

(26)

175,

176.

177.

178.

179.

180.

U3 A9 20 A famer e (&) 37
(1) IHeI Hafia fr e nifgnrs
(2) FI= fEfimr nifsnrs

(3) TR AugsT fums

(@) vFE AEw R ftmr 893

fAfam e wiftuag Afeus "9 fam gor
wdts TIg 92

(1) w21 (2) TI21A
(3) TaT20 (4) TTT20A
393 f='g Tmar I ©f BHT A&t 37
1) 21°9% (2) 187
(3) 247 4) 227
IV R THUS 955 Fet mgat I fa €9
i) sEITsAfEIIL

i) €7 oA Agardt mige Bug ige d= |
i) EATBHT 35S BT TUIRI
iv) EavsfAg 3 Bx |

(1) (1),@v), (i)

(2)  (iv), (id), (ii1)

(3) (1), (i), (i)

4) (1), (i), (iv)

FII T AT I TS nE®3 I -

(1) E9-mTs3

(2) FI=-BonTH3

(3) FTANMTHI

4) fEnEss3

&I AT I? '
(1) 8 () 12

(3) 02 4) 10




